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Prelims test series
IPC PAPER-6

1)Culpable homicide is not murder,if it is done under ?
a)Grave and sudden provocation

b)Self intoxication

c)lrresistible impulse

d)AIl the above

1) AT IY §cT 76l &, TTe Tg Thdeh ded I IS 572
a) X 3R 3T TehIae

b) ¥aT FHAT

C)3ITARTEY 31TaaT

d)3IRIeFd g

2)Causing the death of a child in the mother womb is not
homicide as under ?

a)Explanation first of section 300

b)Explanation second of section 299

c)Explanation third of section 299

d)Explanation fifth of section 300

2)AT o 787 H T T Fcg PR AT AlAd T 6T 672
a)IRT 300 T TISETHIUT Ugell
b)&IRT 299 T FTISCIHIUT GERT
C)HIRT 299 T FISEIHIOT ATERT



d) €T 300 T TASEHIUT gradr

3)X knows Z to be behind a bush. Y does not know about it.
X, intending to cause or knowing it to be likely to cause Z's
death, induces Y to fire at the bush. Y fires and Kills Z. What
is the guilt of X and Y?

(a) Both X and Y are guilty of having committed culpable of
homicide

(b) Both X and Y are guilty of having committed murder

(c) X is guilty of having committed culpable homicide but Y is not
guilty of having committed any offence, whatsoever

(d) X is guilty of having committed murder, but Y is not guilty of
having committed any offence.

3)X ST & foh Z T S8l & NS &1 Y bl 88 SR H IdT oTal 6. X,
Z Y HcY T HRUT Salel T SRS IWAT § IT ST & o S8 HROT
g’lﬁ@rmqﬁm% Y &Y STET 91 Mol Teolled & folv ARG aRar gl Y o
3ol Tells 3R Z I AR STl X 31X Y T 3TORTeT 47 82
(a) X3 YeIat Arsia aer F gy &
(b) X 3R Y Gl §cT hiaA & GINT &
() X AR HIAG T8 el I GINT g elfched Y Pl T 3TIRTET Flat
aﬁra’rsi’rﬂe?r% dTg I8 FO o &

d) X T et ST aIST &, SfheT Y RIS 37ORTY F3ay T 2T 71 B

4). A person who causes bodily injury to another who is
labouring under a disorder, disease or bodily infirmity and
thereby accelerates the death of that other, shall be deemed
to have

caused his death, by virtue of:



(a) Explanation | to Section 299
(b) Explanation | to Section 300
(c) Explanation Il to Section 299
(d) Explanation Ill to Section 299

4). Tk i S fohdT fAhR, START AT AR Gererdll < Tl HIH
W@WWﬁQWWW%ﬁTW @ 39 gAY &l
G T ool AT B, 337 U ET AT ST
m@rmﬁmwﬁ@g@

(a )‘ETRTZQQEHQIF@T*TUTI

(b) &IRT 300 T FISEIHIOT |

(c) EIRT 299 T TISETHIOT ||

(d) &RT 299 T TGSEIHIOT ||

5)A sees B drowning in the river, but does not save him. B is
drowned. A has committed?

(a) the offence of murder

(b) the offence of abetment of suicide

(c) the offence of culpable homicide not amounting to murder

(d) no offence

5)T & &t &l AT & gad gU ST, Ifehet 38 ST AT S ST IRATE. U
o frarg?
(2) BT ST 37U



6)Offences against human body are provided under which of
the following chapters of IPC?

(a) Chapter Xl

(b) Chapter XIlI

(c) Chapter XiIlI

(d) Chapter XVI

6)HATTd AR o eI TURTE ITSUIE! o el i & & fohd
HEI & dgd Jele foht SiTd 62

(a) 3T X

(b) 37T XII

(c) 3rear X

(d) 3rEI=T XVI

7)'A' with intention of causing death of 'B* gave him a severe
blow on his head. 'B' became unconscious. ‘A’ believing 'B’
to be dead throws 'B' into a pond. It was reported that 'B’
died of drowning. ‘A’ is guilty of:-

(a) committing murder

(b) culpable homicide not amounting to murder

(c) attempt to commit murder

(d) culpable homicide amounting to murder

7) 'T o ¥l Sl AR o S T 3T [ W SIRGR IR fehar| &
81 8T 918, 'T" o "dfl" &l FART §31T AL 'sI' Sl dTelld H hep (ST
ST T R " Y g @ A @Y | T A -

(a) T hlaT

(b) MRS HATAT T §cAT o AT oIl

(C) &IT el T YIATH




(d) TS AT T §cIAT & AT

8)Consider the following statements:

Point ‘a’ every murder is culpable homicide.
Point ‘b’ culpable homicide is murder

Point ‘c’ every robbery is either theft or extortion.
Point ‘d’ every extortion is robbery.

Which of the statements given above are correct?
(a) (a) and (c)

(b) (b) and (c)

(c) (@) and (d)

(d) (b) and (d)

8)fAefeiiad YAl R [aaR &<

foeg 'T IcAF g1 TIRATEH HAId T |

foreg 'dr* 3ToRITRS AT & g 8

feig "HI" 9cdeh g a1 dl IR & AT Segrdet

foig "SI" 9cdeh 3eeTael ofC & |

FUR T 1T 2t 3 F PleT AT T L2

(a) (T) 3R (&)

(b) () 3R (&)

(c) (T) 3R (3

(d) (s 3R ()

9)Which of the following is not an offence?
(a) Suicide

(b) Attempt to commit suicide

(c) Murder

(d) Attempt to murder



9)f AT T H & FleT AT 3R AT 82
(a) ATcHg AT

(b) TcHGAT et Tl Tdcod
(c) &

(d) @

=
T T Tco

10). Minimum sentence for Ten years imprisonment’ is
necessary for which of these offences:

(a) Section 326 voluntarily Causing grievous hurt by dangerous
weapon

(b) Section 376(2)g

(c) Section 395 Dacoity

(d) Section 409 Criminal breach of trust by a public servant

10). $TH ¥ T8 3TRTE & folT w1 A Holl &H aY HRIET
3TaTH g

(a) TRT 326 WcReATeh YT AT AT SaRT FITBTIdeh B 39gTd
IR AT

(b) &RT 376(2)&

(c) YT 395 Schdll

(d) &TRT 409 @ilsh Hdeh GaRT TS =TT

11)A person whisked away a child below ten years of age
who does not have parents or any lawful guardian the
offence is

(a) kidnapping

(b) abduction

(c) child trafficking

(d) no offence



11) Th SITFd 8 a¥ A S 35 o 0 dTd &l HIT of AT ol
ATT-TAdT I7 IS JeT TIeToh 18T &, Tg WYY

(a) cgqgoT

(b) 3T98ICT

(c) dTel gcqlqu

(d)

d) SIS 3TIRTET FAET

12)'A' a 75 year old terminally ill patient, pleads with his wife
to give him poison so as to put an end to his painful
sufferings. The wife does as she is asked to do by her
husband. The wife is liable for:

(a) Murder

(b) Culpable homicide not amounting to murder

(c) Abetment of suicide

(d) No offence

12)'T Ueh 75 I 37ETET A3 8, ST 3T Toodl & ATl el & Toh
38 STeX ¢ fear ST difeh 39ehT geotteh 18T & 31d 8! dch| Tcall dol
LAl & ol 3THT 9T 3T el I hadl &1 Ieail 39 [T SRl
g

a) acdl

(a) &caT
(b) TR HATAT T §cAT o AT oTal
(c)
(d)

C m%fﬁvg@w
d) SIS 3TIRTET AET

13)The accused, a shopkeeper, in sudden quarrel hit his wife
on head with an iron weight of 200 gm which resulted in her
death. The accused is liable for which one of the following?
(a) Grievous hurt



(b) Attempt to murder
(c) Simple hurt
(d) Culpable homicide

13) R GHTTER o 3T U STITS H el Teolt & FAT IX 200
ATH olig & dofel 8 AR fohd, foTad 38T Ald 81 715 | 3TAger
Tl # & T olv 3aieriT g2

(a) B 39gfa

(b) &cIT T FA o

(c) TTIROT 3Ugfa

(d) 3TURTTF Al T

14)The mens rea required under Section 299 of the Indian
Penal Code is:-

(a) Intention or knowledge

(b) Intention or negligence

(c) Intention or recklessness

(d) Negligence or malice

14) ARAIT &3 Tigar T YRT 299 & dgd TET TR HROT
g
(a) T AT AT

(b) 3T IT STIATET
(c)

c) SRTCT AT GTHTEH

(d) SITORETEY AT &ay


https://www.shabdkosh.com/dictionary/hindi-english/%E0%A4%A6%E0%A5%81%E0%A4%B8%E0%A5%8D%E0%A4%B8%E0%A4%BE%E0%A4%B9%E0%A4%B8/%E0%A4%A6%E0%A5%81%E0%A4%B8%E0%A5%8D%E0%A4%B8%E0%A4%BE%E0%A4%B9%E0%A4%B8-meaning-in-english

15). The distinction between Section 299 and Section 300 of
IPC, 1860 was first elaborately discussed in the following
case:-

(a) Vasudev v. Uttar Pradesh

(b) Dau Dayal v. State Singhal Law Publications

(c) Om Prakash v. State of Punjab

(d) R. v. Govinda

15). 3TSUTHET, 1860 T &IRT 299 3 ¢TRT 300 & T 37X 9T Ygoll
Wﬁmﬁﬁﬁﬁmﬁﬁﬁ?—?ﬁﬂﬂ‘rﬁﬁzﬁ: :

(a) AT FATH 3T TG

(b )c\ljs &Il ST oy THEe off Jehrelel

() 311 JhTer TATH TSI Ty

(d) 3TR. ST MTder

16)In a scuffle between A and B, two teeth of B got knocked
down. A has committed the offence of

(a) grievous hurt

(b) simple hurt

(c) culpable homicide

(d) assault

16)T 3R &t & &< grUTdTs A & & &l &idl € V| T 3R fohar &
(a)g} 3ugfd

(b)mrrm':r%ﬁ

(C)ATRITS HTAd qET

(d)gHe

17)Which kind of hurt is not grievous?



(a) Any hurt which endangers life.

(b) Any hurt which causes the sufferer to be during the space of
15 days in severe bodily pain.

(c) Permanent privation of the sight of either eye.

(d) Privation of any member or joint.

17)7hd YohR T 3UgTd OX A&l g2

(a) 1S §7 3BT ST SfaeT & WX H STela &

(b) 15 &Y 3ugfa Toas wROT NIZT FI 15 AT & a1 7R
ATk ISt g g

(c) &t & & forely oft A7 Fir £fSe &1 TR e

(d) TR 8 3731 AT NS F7 [ATee |

18)Which one of the following Sections of the Indian Penal
Code prescribes punishment upto the death sentence in
reference to the offence of rape?

(a) 376D

(b) 376C

(c) 376B

(d) 376A

18)1RA &3 Higar i Reafaf@a & & i I aRT Jerey<T &
3TORTET o TGS H FHcFEs cleh ! Foll T JITET Hlcll 672

(a) 3763

(b) 376HT

(c) 3764

(d) 376T

19)'A' and 'B' were sworn enemies in school. 'A' had pushed
'B' due to which he fell down and his two front teeth were



knocked out. 'B' was looking for an opportunity to settle
scores and once after school he challenged ‘A’ to a duel and
gave him punch on his face with intent to knock out his
teeth, but he missed the aim the blow landed on the right eye
of 'A' due to which he lost his eyesight in the right eye. Here
‘B’ would be liable for?

(a) Voluntarily causing hurt

(b) Voluntarily causing grievous hurt

(c) No offence as he never intended to inflict the injury in question
(d) He would get benefit of free fight

N N N S

19)'T 3R "S" Tohel H e GRAA | T & ‘o T e fogm AT
mwag;ﬁﬁwvmmmmﬁa:mmaml Gl
TR aTe-fehclTel SRTa &hiat o Hich shl TRl H AT 3R Teh §R Fhed &
mwﬁr'wa#aamavﬁma?ﬁ;ﬁaaﬂ?mmai@ﬁas
aﬁﬁmﬁﬁwmﬂm aﬁmagﬁ%mww STcehT
IR 31T SR ST T 1 oreeh IOT 3eTeh EIiealt 31 For A
Tl A5 | TGT ST fhdeh ToIT 3T glem?

(a) TATST & 3UgTd Igdr=Tm

(b) FdoeT A B 3gfd Tgee

() IS TR AET FIfF 3THT 2] %ﬁaﬁﬂaﬁlﬁiﬂtmﬁfaﬁr
sTer 2T

(d) 38 el SIS T oTeT Aelam

20)Which of the act amounts to grievous hurt?
(a) beating with a hockey stick

(b) emasculation

(c) both

(d) none of the above



20)ﬁamwwmmﬁaﬁravﬁﬁm%?
a@rmﬁﬁaé

(b)wam

(c)

(d) 3RFT & J FIS 8T

21)The offence of grievous hurt has been defined in?
(a) Section 320 of IPC
(b) Section 321 of IPC
(c) Section 322 of IPC
(d) Section 336 of IPC

21)€X 3UgTd o 3TURTE I TRATNT TohdT AT 82

22). How many kinds of hurts are included under grievous
hurt under Section 320 of the Indian Penal Code?

(@) 5

(b) 6

(c)7

(d) 8

22). AR &3 igdT I ¥RT 320 & 3id9Td 8 3ugfa & 3ideTa
fohde YR 1 A1 A 82

(a)5

(b)6
(c)

c)/



(d)8

23) 'A’ with intention to facilitate robbery put a residential
house to fire in the night & causes death of a person due to
this fire. 'A' has committed the offence Of:-

(a) only for putting fire in a house

(b) culpable homicide

(c) intentionally causing death

(d) causing death by accident

23) 'T" o oI I Fe1aT &l & 3T1¢ A T H Teh TATHIT TR H 31197
o3 &1 31 9 37197 & T Ueh AT bl He 81 5| T o ORI
fRar g:-
(a) Shdel T H AT o9l & folw
(b)ITRIT&H AT a7
(C) SiTeTsSTehT g bl IRV FeTadT

)

(d) GHET & g BT

24) A digs a pit and leaves four deadly and poisonous snakes
into it with the intention of causing death to others. B falls in

the pit and is bitten by a snake and dies. A is guilty, if any, of:
(a) culpable homicide not amounting to murder under Section 299
(b) voluntarily causing grievous hurt under Section 326

(c) murder under Section 300

(d) no offence as B fell in the pit by accident. Hence, A will get the
benefit of Section 80 of the IPC

24) & g I Ald & °TC 3N & S A Ueh T3Sl Giadl § 3R
3IGH IR °deh 3 STgdlel T OIS &aT gl 91 9156 H X ST & 3R
T & shie foram 3 A AT | vas §, g 1S 8, ar:



(a) ¥RT 299 %a%ﬁaﬂcmﬁﬁaldq e §cT & AT gl
(b) &TRT 326 & e TITST ¥ R 3Tl gl
( ) &IRT 300 & dgd gcar
d) IS TRTEr =T8T Fifeh oY gEIe=ATaer ase A IR 7137| safew, U
ﬁyﬁﬁ@rwsommﬁﬁw

25) W who had her small baby tied on her back, was
proceeding towards her parental place who lived nearby.
Since, her husband H. did not like her visits to her parental
place prevented her from proceeding further and directed her
to return home and threatened her with dire consequences if
she ventured to do so again. She felt very depressed and
decided to jump into a well nearby. Unmindful of the
presence of her child on her back, she jumped into the well.
She survived but the child died. W is guilty of

(a) murder

(b) culpable homicide not amounting to murder as she cannot be
attributed with intention to cause death or intention to cause
bodily injury

(c) causing death by rash or negligent act

(d) no offence as it is a case of accident or misfortune

25) Sed], %IW%WW@UWW@T%H gy H & ol
mmﬁmﬁrmmr@raﬁl Ifep, 3T Ui T, Y 3GHT 3797
HTAT-IIdT & &) SATeAT UG, oTal 2T, wﬁvmwmmﬁw
fear 3R 38 =X dliea &1 [Ader iGar 31K 38 gahr &) foh 3R 39+
SR UHT At T fRFAT T A 1R TROTH 8797 g1 g Sgd
3T HgHH X 6T AT 3R 38 91 & Teh FU ﬁchc\d T hagelT




fonam| 39el drs IX 319 S hr Hisfg el I RaTg foh e ag HU

ﬂaawlélagsﬁaawama—crrmw Seol AT &

(a) BT

(b) 3TRITAS AT T T, ST AT T AU F 6T 37T FiTh 39

HIcT T HROT Sfet AT AR e Tgalled oh 37 A S oFeT Serr

ST GehdT

( ¢) 3cTaelYel T ATRATE! ¥ fhT aTT SR & Hcg IR =]
aﬂémaﬁﬂ%mgﬁmm@mww%

26)X inflicted as many as 19 injuries on the arms and legs of
Y with a gandasa, resulting in multiple fractures on arms and
legs and also profuse bleedings. The injuries cumulatively
caused the death of Y. X is tried for the offence of murder
under section 302 of the IPC. Determine the criminal liability
of X from the alternatives given below:

(a) Since X inflicted injuries only on non-vital parts of the body,
hence he could not be attributed with intention to kill and
therefore, cannot be held guilty of the offence of murder but only
of culpable homicide not amounting to murder

(b) Even though the accused did not have the intention to cause
death but, nonetheless, he had intention to cause the injuries on
the body of Y and the injuries so caused were thereby
cumulatively sufficient to

cause death in the ordinary course of nature and so his case falls
under Section 300

(c) Since injuries were only on non-vital parts of the body, and
there was no intention to cause death, the accused is liable only
to be punished for the offence of voluntarily causing grievous hurt
by dangerous weapon



(d) The liability of X can at best be causing death by rash act not
amounting to culpable homicide

26) ‘TR’ o IS A AT S §1Y IR W W 19 IE TgTE, S
Wa&ﬁﬁﬁﬁmmmmwaﬁ
g31T| TIet & HRUT el AT ‘arg’ aﬁrmaél ‘T’ 9T ST
Fr 9T 302 %?—l@?rg—m%ma?rmmm TATIT AT g | ST
T 97T Tyeeut & TR T ORI g11ed iR &Y

(a )aﬁswﬁmarﬂﬁsﬂimmwaﬁm@
%ﬁtﬁm%gﬁﬁ%ﬁma@rosumm{mdl%ﬁ?
SHfCIU, 38 §cdT b U T GINT sTal ST Sl HehdT g, STedh
hdel AT HleTd T T GINT SEAT ST Hehell & |

(b) 8Ter & 31T &7 SUET AT T FHIRUT AT AT, oifehsT T off, 39T
STl ‘g’ o IR O TIE Tgaet 1 AT AR 6 YR o9l e et
T F gITeT Af

il & HHY Tshd H HF T HRUT Soicll & 3R SHTAT SHeRT
HTFST SRT 300 & 3Tdeier 377l %

(c) Tfeh TN sharel IR & IR-FAgcaqol fgal 92 of, 3R Al 1
$RUT Sefel T IS SGT Tal AT, ST IRIYT hael WA sIATR
ST TIToT § € 3Ug(d gl o IORTe & foIT &fs foha o
HHaT ¥

(d) ‘TFH’ FT 3eREIR—Icd 3186 H 37T ITIae! ¥ [T v s a
Hc 1 &1 Fehll &, ST TR HeTd aer shr AU # g7 377 &

27)Causing death of a child in mother's womb:
(a) is always homicide

(b) with intent to cause miscarriage is homicide.
(c) is culpable homicide



(d) is culpable homicide if any part of such child has been brought
forth, though the child may not have breathed or been completely
born

27)AT & 187 F T T Hcg I HRUT Seo:

(a) AN AT aH &

(b) ITSTIT T & TS & T IS &A1 BT 2

(c) IR SGdaT gcAT &

(d) ITE TH ST T IS 39T AT AT IAT &, Hel & S of I of
off &1 1 U 6 & e =7 g3 &1, ol Jg 3 Aleid I &

28)'A’ enticed a minor girl M without the consent of her lawful
guardian G and kept her with him for a month after which he
deserted her. Thereafter while M was loitering on the street, B
took her with him from whose custody 'M' was later
recovered by the police.

(a) Only 'A' is guilty of kidnapping

(b) Only 'B' is guilty of kidnapping

(c) Both 'A" and 'B' are guilty of kidnapping

(d) None of the above

28) 'T" o Ueh ATHTTIIT ISeh! “TH 'l 3Hh AT TI&Th ‘il hl TgHTd
& AT HHATAT 3R 3 U HLIA cIeh 3791 1Y 3@T {5 8eh 1 381
39 Ol el 38 1 oI “TH’ ¥seh T A T AT, €38 30
AT of 1T, fSHehT ferad & 'TH' I &g # gford o sR1HAe; < for|
(a) Fdel 'T" SYYGIUT T GINT &

(b) ShdeT &Y STUEIOT HTSINT &

(c) '@ 3R A AT cgUgIoT F gt §

(d) 3T & § FIS 78T




29)Which one of the following is not an essential ingredient
of the offence of kidnapping under the Indian Penal Code?
(a) Minor Child

(b) Intention of the accused

(c) Without the consent of lawful guardian

(d) Out of the keeping of the lawful guardian

29)ArATo T & & Sl A7 HRAT &8 T & dgd cIIeol &
3TIRTY T Ueh TG UcHh oTal 62

(a) SATETTeIeT gTT

(b) TTAYF T 3T

(c) % TL&TSH ohl AT o ToalT

(d) I T&TH b TI&TUT H T8

30)Age of minor for kidnapping should be:

(a) under 16 years

(b) under 18 years

(c) under 16 years of age if a male and under 18 years of age if a
female

(d) under 21 years of age if a male and under 18 years of age if a
female.

30)cTYEIT & ToIT ATEITIdT T 33 gl AT T:

(a) 16 AV & A

(b) 18 aY & A

(c) IR EIE A 16 I A Fr I AR AR AR g AN 18 a¥ A &
3T

9



(d) IR Eu g A 21 av aFA IR IR AT E A 18 aT A FA L

31). The word 'takes' in Section 361 of IPC signifies
(a) Taking by force

(b) Taking by fraud

(c) Physical taking

(d) All the above

31). TSUIEY T URT 361 H "Il & Asg T 37§

(a) STERGEAT ol

(b) & & ofeT

(c) AR ol

(d) 3URTeFd GHY

32)'A' meets a girl aged fifteen years in a park. She tells him
that she is sixteen years of age and she is ill-treated at her
house by her father and that she would be happy to be taken
away from there. Thereafter ‘A’ takes the girl to his house
and allows her to remain there. In this case

(a) 'A' has committed no offence as the girl has come with him
with her own consent.

(b) 'A" has committed no offence as the girl misrepresented her
age and 'A' believed her matured and capable of consenting.

(c) 'A" has committed the offence of kidnapping of minor from the
lawful guardian.

(d) 'A" has committed the offence of kidnapping and wrongful
confinement.

32)'T" I HlTehTd Ueh UTeh H UGg Aol ol Ueh oIsSehl U glcll 6| 98 39
dTdT & Toh ag Hlelg Il T § 3R 39% 88 W 38 Odr 38 a1y



GeddER ahid g 3 38 TgT 4 of SiTe & Geft gl | 58 &1 ' of5eh
aﬁmﬁm@rm%msﬁaﬁwﬁﬁmm%lwmﬁﬁr
Uﬁmmaﬁﬁm%mmmm@rm

HTH&H?%I

b) 'T ¥ IS U TET AT & FAIfh TSI oF 39T 3H AT IdTS
g 3R T &7 AT § [ a8 9Rusa § 3R TgAfa ¢ 7 TeTH gl
(c) T o Y TI&Th H TSIl b cTIGIUT ol ITIRTE fhaT & |

(d) 'T & SIYGIOT 3R HEIT TRV AT ITIRT ThaAT |

33)The offence of Section 361 of the IPC is basically against?
(a) family

(b) society

(c) any person

(d) lawful guardian

33)3MMS U ST TRT 361 T 3R HAd: Tohdieh [aeaEr 572
(a) gRAR

(b) §ATST
(c) g 8l AfFa
(d)éﬁrmﬁ

34)With respect to the difference between kidnapping from
lawful guardianship and abduction, which of the following
statements is correct?

(a) Kidnapping is committed only in respect of a minor or a person
of unsound mind. Abduction is committed in respect of a person
of any age.

(b) In the former, the person kidnapped is removed out of lawful
guardianship. Abduction has reference exclusively to the person
abducted.



(c) In kidnapping, consent of the person kidnapped or entitled is
immaterial. In abduction, consent of the person moved, if freely
and voluntarily given, condones abduction.

(d) All of these.

34)hlelell TX&TehclT & STUGLOT AT TELUT & &I 3T o HeIeT A,
fafafea & & o9 a1 s T8 82

(a) STUGRT shd el AT AT fehe TCHATT aTel SAfFd & Haer &
ﬁmm%lwwaﬂwas—a%w%mmﬁl

(b) I H, SAUGIOT fehT 1T ST TereT T AT HI&TehTT | §eT TG SATelT
£ 3T9g0T T HeaT 9y &9 & 3r9gd e A gl

(c) STYGIUT H, 3Ugd IT §heR cATFd hl HgH T Agcdplod ol
3T9EI0T H, TATATIRT Ifad T TgATT, Ife TadT 9 § 3R Ta<or
& 915 §, 3T9ELUT ! FATH T Sl ¢

(d) T e

35)Which one of the following is a continuing offence?
(a) Abduction

(b) Rape

(c) Abetment

(d) Kidnapping

35) AT @d & & ahiel AT Teh Tdd IWTT &2
(a) 3T9EIOT

(b)
(c)
(d)

1

36)Whoever by force compels or by any deceitful means
induces any person to go from any place is?



(a) abduction

(b) kidnapping
(c) slavery

(d) forced labour

36)iT shIg Tohdll cTTehd sl SoTqde AT fehdT HUCYUT AT & fehdl!

TUTH ¥ ST & forw IRT T & a8 &2

(a) 3T9&CT

(b) 9T
(c) Igemh
(d) STeRT ATl

37)For the offence of abduction of person, abducted must
be?

(a) minor

(b) major

(c) minor or major

(d) None of the above

37)fRdY SITFd & 319807 oh 3TIRTY o folT UG glell AT ?
(a)3AdTEh
(b

) ITED
(c) TdTEh AT IIEH
)

(d) 3RFT & § IS g1

38)A', 'C' and 'O' commit rape on B and are convicted by
Court of law. Subsequently, ‘A’ is found guilty of having
committed the rape of ‘X' also. 'A' is liable to be punished
with:

(a) imprisonment for 7 years extendable to 10 years



(b) only imprisonment upto 10 years
(c) imprisonment for life till natural death or death
(d) life imprisonment or 10 years rigorous imprisonment

38)T, " 3R '3 o ‘&’ o AT FeleqeT fohaT 31X 31Tl o 3¢
Gt SEAT| 38 §1G, "T* I "THT" & ATY AT TellchR hlad T GINT
qTT I1AT| 'T* I Gfod [T ST HehdT 6

(a) 7 GTel T he, [T8 10 ATl cTeh SSIAT ST Hehll &

(b) Fhael 10 aY dh HRIETH

(c) UTehfdeh g AT Hcg deh Tsiidel HRIETH
(d)sﬂsha?raﬁmammmaéraarwaﬁmam

39). A man is said to commit rape if he has sexual
intercourse with a women with or without her consent, if her
age is below........ years of age?

(a) 16

(b) 14

(c) 15

(d) 18

39). e his G2 ferdll AfG T o A1 3Geh! HeAT & T AT 3Hh
YT FeT-TeeT qeTaT &, T TR 3T ... aY A HA g, dr 39
TATCHAT HTAT STl 52

(a)16

(b)14
(c) 15
(d) 18

40)A has sexual intercourse with his own wife aged about 14
years with her consent. A committed:



(a) No offence

(b) Rape

(c) Intercourse with own wife is not rape

(d) As there was consent hence A cannot be held guilty for rape

40)T o7 37T 14 AV T TeiT Ycail b HIY 3T TgATd &
ANA-FY FoI1AT | TIfAeey:

(a) TS TR TeT

(b) TTcEHT

(C) 3191t Teadl & AT AlT-Hae Tl el &

(d) i FEATA AT SHTAT T T FelTcHT & AT I =181 S S
Ghdl

41)'A' has sexual intercourse with a widow with her consent.
‘A’ is guilty of?

(a) rape

(b) adultery

(c) insulting modesty of widow

(d) no offence

41) ‘T Jf U TIYaT & 1Y 3HHT TgATd & JIA-a8 g1 AT 1 T
ardr g2

(a) TeTcHaT

(c) ITRHH

(c) faeraT T oo $79T el

(d) SIS 3TORTEr T




42)'A' inserts his finger into the anus of a woman against her
will. Under which one of the following Sections of the Indian
Penal Code, 1860 'A' is punishable?

(a) Section 376

(b) Section 354

(c) Section 509

(d) Section 377.

42)'T" Tsh Higell sl 3TOT o [avee 3HehT I[eT H 7Tail 3Tl STelclT
&| TR &3 EiaT, 1860 'T F1 feeiTaTd & & e 4RT & ded
CSART g?

(a) &IRT 376

(b) &TRT 354
(c) &TRT 509
(d) &rRT 377

43)As per the Criminal Law Amendment Act, 2013, enhanced
punishment of rigorous imprisonment for a term of not less
than 10 years is provided for rape if woman is under?

(a) 16 years of age

(b) 14 years of age

(c) 15 years of age

(d) None of the above

43) 3R Hleled HAHT fAAIH, 2013 & AR, TecHT F
T 7 & T 10 TS 1 37T & THT HOR HRIEE @ra??rséﬂ\—rn
T JTGETT g 319X Afgell T 3. THAE?




(d) 3WRIeFd H § FIS g1

44)Under section 376 of the IPC A public servant committing
rape on a woman in his custody shall be punishable with?
(a) Rigorous imprisonment up to 7 years

(b) Rigorous imprisonment of at least 8 years

(c) Rigorous imprisonment up to 10 years and with fine

(d) None of the above

44)3TSYTHT T URT 376 & dgd Ueh dlieh Hdeh GaRT 31911 fgarad H
fordT ATRET & TTA Tl T st UL AT €3 TS AT SATTIM?

(a) 7 aY deh T hoR HRIATH

(b) FH & H 8 Y FT HOR HRIATH

(c) 10 Y Teh T HON HRIANT 3 STHTAT
CERREGK R EIEG ]

45)Intercourse by a man with his wife during separation is an
offence under section of IPC-

(a) 376

(b) 376B

(c) 376D
(d) 377

45)qUFHIT o SRTeT T T&Y SR 7T Teadl oh T HYT HlaAm
TSI T 9RT & dgd 379 g~

(a) 376

(b) 3763
(c) 3763r
(d) 377



46)Two ladies of young age, A & B fight with each other. A
was having a blade with which 'A' inflicts injury on the face
of B leaving a scar on the cheek of B. A is guilty of offence of
causing

(a) grievous hurt

(b) grievous hurt by rash or negligent act

(c) simple hurt

(d) simple hurt by rash or negligent act

46)FH 35 T gl Afgey, A 3R B 39T H oIsdl &1 A & ITH Th
sois U1 9@ 'A" ‘B’ & Jg T die Jgdidl g 31X B & 3Tl IX
fRITeT B8 & & A

(a) X 39gfd

(b) STecaTSiT AT AITIRdTe! H fohU 31T 1 & TR 39sTd

(c) TR 3Ugia

(d) STecaTell T ATILETeT & fhT 10 AT & FTYRUT 398G

47)Whoever has sexual intercourse with his own wife, who is
living separately from him under a decree of separation,
without her consent, shall

(a) Not be liable for any punishment

(b) Be punished with imprisonment of either description for a term
which may extend to two years and shall also be liable to fine

(c) Be punished with imprisonment of either description for a term
which may extend to three years

(d) Be punished with simple imprisonment which may extend to
one year and shall also be liable to fine



47) Y IS 3T Teall & AT, ST GUFHIOT o A & dged 368
37197 3 &! &, 3Th! AgATd o Tl FleT Y TATT ¢ |

(a) fordT & Totr & foT A=Y 78T glem

(b) fordt T 31afer & foT wRTarT & &fsd fohar StTeeT 5 e arer
cTeh SGIAT ST Fehdll § 3R STATAT Y 3T ST Fehll §

(c )Wﬁmﬁ%ﬁvwﬁaﬁmﬁmmm%meﬁﬁ
Tl dh ST ST Jehell &

(d) TTIRUT R & &fsd fhaT ST f98 U ay deh 61T ST
Hehell & 3R STATAT 311 ST ST Hehell &

48)Which of the following Sections of IPC punishes for
causing death or resulting in persistent vegetative state of
victim during the commission of offence of Rape?

(a) Section 376B

(b) Section 376C

(c) Section 376D

(d) Section 376A

48)3TSUHT T [Tl & & i AT URT TATCHIT o TR &
GIRTeT #cg T HRUT Setel AT NISAT T AR fasherelier g2 HRIT
o & foIT & foT és &t 22

(a) GRT 3768T

(b) &RT 376%T

(c) {RT 37631

(d) &7 37617



49)Any person who commits unnatural offence and enjoys
voluntarily sex with any male, female or animals, he can be
awarded maximum sentence of:-

(a) life imprisonment

(b) ten years imprisonment

(c) seven years imprisonment

(d) three years imprisonment

49)ehTS 81 AT i ITSTehicieh 3TORTE el & 3R FaeoT  fhd!
T, HICT IT ST & T AleT HE FI1T 8, 39 TSR it aF T
gehall §:-

(a) 3TSllde] hRIATH

(b) & ATel T e,

(c) AT HTeT T The

(d) et TTeT T Thes

50)Which of the following sections of IPC deals with Gang
Rape?

(a) Section 376A

(b) Section 376D

(c) Section 376C

(d) Section 376E

50)3MSUIHT el ATl T H & ahilsT Y &RT HIH G Tollcdar &
O

(a) 9T 3767

(b) &TRT 37631

(c) €T 3764T

(d) &RT 3768



51)Naz Foundation case relates to which of the following
provisions:

(a) Section 491 of the IPC

(b) Section 377 of the IPC

(c) Section 293 of the IPC

(d) Section 497 of the IPC
51)%%3?213%%9%%@39&@%%@@6@?%:

a) 3TSUTrHY T aRT 491

52)Public servant have sex with a woman while in his
custody. This sex does not come in the category of rape.
What is the maximum punishment provided in such cases for
such public servant?

(a) Seven years

(b) Five years

(c) Ten years

(d) Life imprisonment

sz)aﬁa@wﬁmmﬁwﬁg@mﬁmé:muﬁa
TEY FTT| 3 AT Teer garredar v Ao & g 317ar. O A F
VY ek Adeh o AT 3TTRIehcs Il ST TG 3T §7?

(a )WW

(b) 9=

(c)ed
(d)msha?rwmm




53)In which of the following judgments did the Supreme
Court set aside the judgment of the High Court of Delhi
which decriminalized Section 377 of the Indian Penal Code,
1860:

(a) Sakshi v. Union of India, AIR 2004 SC 3566

(b) Naz Foundation (India) Trust v. Suresh Kumar Koushal, (2014)
3 SCC 220

(c) PUCL v. Union of India, (2010) 14 SCC 245

(d) Suresh Kumar Kaushal v. Naz Foundation (India) Trust, (2014)
1 SCC 1

53)fAATIET # & fohdt el H GNA FIC A [Ceell 3TU ~ATATerd
& thdel I ¥eg X 6T, [Tas ARG &3 dfgdr, 1860 T &RT 377
Pl 3TIRTET bl AT | geT fear ar:
(a) TETT §=IT9T AR 99, UATS3R 2004 THAT 3566
(b) TS WIS (F3T) TEC SATH FIA HAR HIRA, (2014) 3
THARET 220
(c) TIETe SITH $Rd 99, (2010) 14 THANET 245
(d) TR FAR HIRAeT FaATH ATST BISSTAT (333M) TFT, (2014) 1

1

54)Euthanasia means ?

(a) Death by Consent

(b) Divorce by Mutual Consent
(c) Surgery by Consent

(d) Transfer by Order.

54)3ToTH g 1 3 §7?
(a) FEATT A HY



(b) 39T HEAT & Telleh
(c) HEHTT ¥ HoRT
(d) 3T 2T GaRT FATATAIOT|

55)Which one of the following is not punishable under the
Indian Penal Code?

(a) Preparation to wage war against the state

(b) Preparation to commit murder

(c) Preparation to commit dacoity

(d) Preparation to commit depredation on the territory of a friendly
power

55)FATIEd 3 § e T AR &8 HigdT & dad a1 el &2
(a) T & TR Je8r Ssat i SR

(b) &IT FaT T AT

(c) ST el T AT

(d) A AT & 813 H Feure e T IR

56). ‘A’ appears as a withess before Z, a magistrate, Z says
that he does not believe a word of A's deposition, and that ‘A’
has perjured himself. A is moved to sudden passion by these
words and kills Z. This is:-

(a) grave and sudden provocation

(b) murder

(c) culpable Homicide not amounting to murder

(d)

d) all of the above

56). 'T" Uah AToIEec ‘315’ o HIH Udh I1dTg o &9 H YT glAT §, ‘18’
Fedl ¢ foh 98 ‘T & FIT & T Y 2ree W f32a1@ 181 ear g, 3R




T 5T e, I ST ITATET & § | SoT sl § "W ITeATeTeh TART H 3T ST
g 3R ‘A8 FI AR STAdT & | T8 6:-

57)X knows that Y is suffering from a disease in his head and
also knows that if a blow is given to Y on his head it is likely
to cause his death, X gives a fist blow to Y on his head. Y
died. X is:

(a) guilty of culpable homicide not amounting to murder

(b) guilty of murder

(c) guilty of causing hurt

(d) guilty of no offence

as in ordinary circumstances that blow is not sufficient to cause
death of a person of normal heath.

57)X ST & b Y 3791 f8T & v ARy & fifsa g 3R I8 off
ST & o I Y & 8T I Tk S7¢anT [T SITdl § ol S8 39T
HcY gl T HHTIAT &, X, Y o T I Teh HFHT ARAT ¢| Y A I
Xg:

(a)3TIRITeh HITd g §cdT o HHTT ol

(b) BT T ST

(c) 39T TgaTeY T QT

(d) TorelT 8f 3rorer &7 Gy S7ET

ST o6 ATATT IRIEATaAT & g1ar &, 98 STl ATHAT Tareey drol
g &Y Fcg T FROT Fefet & foT TAfee TET ger &




58)The doctrine of 'transfer of malice' is contained in of IPC
(a) Section 34

(b) Section 144

(c) Section 301

(d) Section 420

58) 'cAY & TUTATAXOT T AT ISURT & fafed &

(a) T 34

(b) 9T 144
(c) &rT 301
(d) gRT 420

59)The case of Bachan Singh v. State of Punjab is concerned
with-

(a) Capital punishment in India

(b) Custody of under trial prisoners

(c) Prosecution for attempted suicide

(d) None of the above

59)s<IT T8E SATH USlTd AT T ATHAT HTd &-
(a) HRd H HcIcs
(b)ﬁam%ﬂ?rasm‘raﬁrma

(c) ITCHGAT & Tcod & felT TR

(d) 3T H & PIS oTer

60)In which case the Supreme Court has struck down
Section 303 of IPC as unconstitutional?

(a) Machchi Singh v. State of Punjab

(b) Bachchan Singh v. State of Punjab

(c) Santa Singh v. State of Punjab

(d) Mitthu Singh v. State of Punjab



60)fehd HTH H oA I o JTSHHT dhr URT 303 A JHAUTAS
Wﬁ\?ﬂ%’?

a) AT g I TalTd o3
(b)ac_cl?rﬁ%’qdm Tl g

(c) HaT THg ST Tl T
(d) fACS e 9=T1H gaTe T3

61)'A' is cutting the wood with an axe at a place where
children are playing? The axe files off and kills a nearby
child. ‘A’ is liable for-

(a) No offence

(b) Murder

(c) Culpable homicide

(d) Causing death by negligence

61)'T" 3H TUTT W FHegls! A hs! FIC T@T & o6l 5o Wl 6 672
mﬁaﬂ?ﬁ%sﬂ?wéswﬁaﬁmfﬁr%l T 3G fIT
m'efr%"

a) g T =T
(b)
(c
(d

)W@ﬁmaﬂaﬁ
) 3UETT CaR Hcg IR FLAT

62)By which amendment Section 304B of IPC relating to
dowry death was inserted?

(a) Criminal Law (Amendment) Act, 1985

(b) Criminal Law (Amendment) Act, 1986

(c) Criminal Law (Amendment) Act, 1987

(d) Criminal Law (Amendment) Act, 1988



62)cgst Hcg A HaTto JTSUIHT hr &RT 3044l fohdy HRNErs SarT
a’l??r?lézfr?

63)'Dowry death' under Indian Penal Code, 1860 has been put
under the chapter ?

(a) offences against human body

(b) offences against marriage

(c) offences against law and justice

(d) offences against public nuisance

63)$TRci &3 Higl, 1860 & 3AaTdl ‘ool #Hcg' I fohdl AT
3T IW@T AT 82

(a) ATAT eRR & W&eTh 3Ry

b) faaTg & fa%eer oY

¢) el R =ATT & Wl 3ToRTEr

(d) HTasifaieh 39gd & el 39T

64). Abetment of suicide of child is punishable:
(a) under Section 306, IPC

(b) under Section 305, IPC

(c) under Section 309, IPC

(d) under Section 109, IPC

64). ST T HTCHEAT & [T GERUT &A1Y &
a) JTSYIET T 9RT 306 & dgd
b) ITSYRAT &1 &RT 305 & dgd



c) 3TSUIET T ¢IRT 309 & dgd
d) SURAT T ¢IRT 109 & dgd

65). ‘A’ intending to murder ‘B’ by poison, purchases poison
and mixes the same with a glass of water. He gives the glass
to bearer to serve 'B'. The bearer while approaching '‘B' loses
balance and the glass drops out of his plate. What offence 'A’
has committed?

(a) No offence

(b) Attempt to commit Culpable Homicide

(c) Offence of abetment

(d) Attempt to murder

65). 'T* SgT & A" T §cTT H T AT IWT &, STeY WedT &
3R 38 U e A=A & A AT &1 98 'S 3l RIF= o fow
faTeIe &Rk T & &1 & & I 37T §AY YR Hlolod T &l &
mmmmﬁw#ﬁtmﬁl T oY el G IORTET T B2
a) IS ITRTEN =TET
)WHMd e el T Tcad
(C) GSURTT T 3TTRTET

(d) &cIT Tl J ¢

(

66)X, with the intention to cause miscarriage, administered a
drug to a pregnant lady Y. The child in the womb died. X is
guilty of:

(a) murder

(b) culpable homicide not amounting to murder

(c) no offence

(d) causing miscarriage



66) T’ & TSI hTeT & SUIS W Iachy Aol ‘ars’shy gar &r| st
H 9of 18T 94T AL 31AT| ‘TFT’ ST &

(a) gcaT

(b) MRS HATAT T §cAT o AT oTal
(C) I ITTRTET e

(d) YT T ITT HIRA HIAT

67)A obstructs a path along which B has a right to pass, not
believing in good faith that he has a right to stop the path. B
is thereby prevented from passing. A has committed the
offence of ?

(a) Wrongful confinement

(b) Wrongful restraint

(c) Intimidation

(d) Criminal force

67)T 39 & H &TT STIdT ¢ ol UX ST 3l oflel bl TR g, foar
g faRary & foh 38 TEAT Ushol ol TSR g1 SH IhR & I Sl &
T SATAT 51 & o 3T9TeT fohar & 2
(a) TEI¥ gRAer

(b) HEIY 37a0eT
( c) T
(d) TS def

68)A places men with firearms at the outlets of a building and
tells B that they will fire at B if B attempts to leave the
building. What is the offence committed by A as against B ?
(a) Wrongful restraint

(b) Wrongful confinement

(c) Refusal to leave the place



(d) None of the above

68)T Ush SHR & HT3CoIC W IR &b AT TEUT bl AT §
3R & A T ¥ IR O AR O H IR HET ATy TR
IMTell T Gar| T E@RT & o Ta%eer fohdT I1T 37ORTY T 62

a) GGV 3TaXer

(b) HEIT qRAEr

(C) STITE BISal | Sh el

(d) 3TRFT H H IS oTg1

69)A intentionally pulls up a woman's veil without her
consent, intending or knowing it to be likely that he may
thereby injure, frighten or annoy her. ‘A’ is guilty of:-

(a) Molestation

(b) Force

(c) Criminal force

(d) Assault

69) 'T fehdil HIGAI shl HgATT & TSaTT STTeTesTeh 3HehT HEC Wil
g, ugamﬁwﬁ?agﬁa’lquw Hchdl% oy {-Ichdl%'?ZITCﬁ'QﬂFf
Y Fehall &1 7T g -

(a) O3BTS

(b) sTeT
(c) AT del
(d) gHel

70)Voyeurism has been criminalized in India by virtue of
which amendment to IPC?

(a) 2015
(b) 1983



(c) 1870
(d) 2013

70)3TSURAT 7 foha TS & MR W HRT H TIRTAHT i
3TORTY TS R fear arar g2

1.Columbus ........... America.he was obstinate person
towards his bull's eye .

A.had discovered

B.discovered

C.will have discovered

D.was discovering

2.my neighbour .......... to village last night to look after his
parental house

A.gone

B.go

C.went

D.was going

3.it is high time that he ........ his nascent business to earn
huge profit .

A.had started

B.started

C.will have started

D.would have started



4.my culprit neighbour ........ his wife two hours ago and
immolated himself .

A.had smothered

B.smothered

C.will have smothered

D.was smothering

5.they ............ their wonky house yesterday to get treasure

A.were demolishing
B.will have demolished
C.had demolished
D.demolished

6.i........ footed my bill yet. | am out of pocket today.
A.did not

B.was not

C.have not

D.will not have

7.they have not put the books in higgledy piggledy order
A.still

B already

C.soon

D.yet

8.you have confessed your heinous crime......
A.lately



B.soon
C.already
D.just

9.the poor have ....... eaten stale chapatis due to their abysmal
poverty .

A.already

B.yet

C .soon

D.before

10.which sentence is not in the present indefinite
A.they swim in a reservoir everyday.

B.she has already finished her homework

C.we always take a wonky bus to school

D.he plays chess with his chums

11.which sentence is in the present continuous tense and
includes an adjective

A.he is sleeping

B.they are eating lunch

C.she is getting hefty salary from her new job

D.i am running in the park

12.in soupl/in pickle
A.in days of happiness
B.in sorrow

C.in economical problem
D.in trouble

13.button up your lips



A.keep mum

B .talkative

C.talk absurd talks

D.talk in indecent manner

14.itching palm

A excessive honest
B.excessive dishonest
C.excessive greedy
D.excessive prudent

15.live hand to mouth
A.live in wealth

B.live in poverty

C.live in shanty town
D.live in posh area

1 AdTSi 39 81 &

(31) ST ardh
COIEUGEIEED

(T) HIT drdeh

@) T gl

2 31T Y AT Shel AT B |
(31) ST araeh

(§) cTferd arTes

* () ATadrdesh
HEEEEG

3 3791 & TR 9T AT & fohda A 872
(31) 4



(&) 3
(&) 5
(€) 6

4 awr;ﬁaﬁwa‘e’awaﬁare’lﬁ% areFg H [T g-

5 TIATUT Y ITTEAT3 hl TG 3 FHgT ST &-
(37) HeTaEAT

) HAeaedr

(@) Srataer

(&) TeTeATaredT

6 Te=AiToha 1 T 37T T HieT-aT A 7T &2

(37) aeTafears

() Harfcaras

(T) FHaGEEH

GRS GICINED

7 I3 eree] T THAATOT fohdsl YR & fohaT ST HehdT 872
(37) 2

()3
(|) 4

(&), 5

8 TG el H IAgT GHTH glaT &2
(37) dcTed

(&) Sgeife



(H) 3ecTAHT
(@) TH gATH

9 dg 3119 &l. Tl ST |
(37) [Feggaras

(&) Teetaraeh

(&) VAT

(&) HFddldeh

10 Ig &R # 319 g1 fIRT garm|

37) fereggaraes

(
(
€3 )W
(q) HFdTdrdsh

11 JgT ST ol JGT 37TAT AT, YahsT AT

(@) HFdYdrdeh

12 S ST GY g9 |

CIGEEREIEED

CMGEEISED

() TevaTash

(E)Hd—clo-muuch

13 AasT H Hlaarafar g

(31 &g afey

( &) o1 A
aafﬁafﬁ*




Answer key-6

QUESTION ANSWER |QUESTION | ANSWER | QUESTION ANSWER QUESTION ANSWER
1 a 26 a 51 b 76 c
2 c 27 d 52 c 77 d
3 c 28 a 53 d 78 a
4 a 29 b 54 a 79 a
5 d 30 c 55 b 80 b
6 d 31 c 56 b 81 c
7 b 32 c 57 b 82 d
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